C:# | dentifying Whole Number as Fractions Name:

Solve each problem. Answers
1) Which choice best shows 2? 2) 'Which choice best shows 4?
A. 22/2 A. 4/44 -
B. 7, B.7, 2
% ¢, )
D.7, D.7,
4,
3) Which choice best shows 127 4) Which choice best shows 7?
INA AT >
B. 71 B. /47 6
Y, e, )
D. 74, D. 7,
8.
5) Which choice best shows 6? 6) Which choice best shows 3?
WA A7, ?
B. 6/l B. 33/33 10.
o/ c. 7,
D. 7, D.7,
7) Which choice best shows 5? 8) Which choice best shows 10?
A. 7, A 7y
B. 7 B. 710
c. c.'Y,
D. 7 D. 710
9) Which choice best shows 8? 10) Which choice best shows 11?
A7 N
B. Ve B. 7y
c.7, c.',
D. %, .7,
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|dentifying Whole Number as Fractions Name. Answer Key
Solve each problem. Answers
1) Which choice best shows 2? 2) Which choice best shows 4?
A. 22/2 A. 4/44 D
B. 7, B.7, 2 _ B
¢ %, ¢, A
D.7, D.7,
2. D
3) Which choice best shows 127 4) Which choice best shows 7? B
INA AT >
B. 71 B. /47 6. _D
Y, e, A
D. 74, D. 7, o
5) Which choice best shows 6? 6) Which choice best shows 3? C
WA A7, ?
B. 6/l B. 33/33 w_C
o/ c. 7,
D. 7, D.7,
7) Which choice best shows 5? 8) Which choice best shows 10?
A. 7, A 7y
B. 7 B. 710
c. c.'Y,
D. 7 D. 710
9) Which choice best shows 8? 10) Which choice best shows 11?
A7 N
B. Ve B. 7y
c.7, c.',
D. %, .7,
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